2005-2006 7TH GRADE CONTEST SOLUTIONS

Answers

30.

Any 2 such diameters share the center, so they can’t be parallel.
A) be perpendicular B) be parallel
C) be equal in length D) have a point in common

30.

B

31

9992 = /999 X999 X9FI X999 = VI99 X V999° .
A) 99 B) 99 C) 999° D) 999"

32.

The largest 3-digit prime number is 997.
Since the only prime digit in 997 is 7,
the answer is D.

A1 B3 Q5 D7

33.

All powers of 5 = 5% end in “25.”
A0 B2 C4 D)5

The perfect-square multiples of 36 that are between 1X36
and 36 X 36 are 4X 36, 9X 36, 16X 36, and 25 X 36.

A) 0 B) 4 C) 9 D) 16

35.

=3X3=%,and F+g="7FX3

a) 2 B) 2 o 2 D) 12

wlw
wllw

35.

36.

(1X100) X (2X50) X (4% 25) X (5% 20)x10+100 = 10°+10% = 10”.
A 1 B) 100 C) 100* D) 107

36.

37.

If aAb/A\c = axc + bxc, then 7A8A9 = 7X9 + 8x9 = 135.
A) 128 B) 135 Q) 272 D) 639

37.

38.

2 _1+2 _1+0219= 5 _qp10_ 410
ey -l gy = 14 §) = 142X g 1+3 =13

5
10 10 3 2
A) 13 B) 13 0 22 D) 82

38.

39.

Speedy Rabbit’s average speed was

(800 m)-+5 min. = 160 m/min. To finish in
4 minutes, he would have to increase his :
average speed to 200 m/min., a 25% increase.

A)20% B)25% C)30% D) 40%

Each time 2 rabbits drop out, one comes
back in. This happens 13 times. Each time, %%
the net loss is 1 rabbit. The number of
rabbits left in the end is 50-13 = 37.

A) 20 B) 24 C) 37 D) 39

39.

40.

The end of the contest @& f
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Contest Information
m Solutions Turn the page for detailed contest solutions (written in the

question boxes) and letter answers (written in the Answers column to
the right of each question).

m  Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, deserve commendation!

® Answers & Rating Scale Turn to page 142 for the letter answers to
each question and the rating scale for this contest.
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